考试日期2013.01.24
一、填空题（每小题5分，共30分）
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6.函数
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二、计算下列各题（每题7分，共42分）
1、 设函数
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， 求
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2. 设 
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  ， 求
[image: image14.wmf]dx

x

f

ò

¥

-

-

2

)

1

(


3、 设函数
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5、计算 
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6. 求广义积分
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三、（8分）设正数
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，且满足关系
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四、（10分）求函数 
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的单调增减区间和极值.

五、证明题（每小题5分，共10分）：
（1）设函数
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（2）设
[image: image32.wmf]()

fx

¢¢

在
[image: image33.wmf]]

1

,

0

[

上连续，且
[image: image34.wmf](0)(1)0

ff

==

，求证：
[image: image35.wmf]11

00

1

()(1)()

2

fxdxxxfxdx

¢¢

=-

òò

。
1
1

_1418887063.unknown

_1418933672.unknown

_1419415983.unknown

_1419427704.unknown

_1420726186.unknown

_1419416066.unknown

_1419421757.unknown

_1419416016.unknown

_1419411846.unknown

_1419412001.unknown

_1419411748.unknown

_1418891604.unknown

_1418929557.unknown

_1418931231.unknown

_1418928087.unknown

_1418888918.unknown

_1418889023.unknown

_1418889043.unknown

_1418888944.unknown

_1418888062.unknown

_1418888194.unknown

_1418888097.unknown

_1418887163.unknown

_1166206396.unknown

_1166210940.unknown

_1354909076.unknown

_1418457214.unknown

_1166293995.unknown

_1166206433.unknown

_1165826716.unknown

_1165826768.unknown

_1165826658.unknown

_1162639334.unknown

